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Algebraically integral elements (triangular lattice), dominant integral
elements (black dots), and fundamental weights for sl(3,C)




http://young.sp2mi.univ-poitiers.fr/cqi-bin/form-prep/marc/tensor.act?x1=5&x2=3&y1=3&y2=5&rank=2&group=A2

Decomposition of tensor product of [5,3] and [3,5] 1n A2

Below you find the decomposition of the tensor product of the irreducible A2-modules with highest weights [5,3] and [3,5] into
its irreducible factors; the result was computed by LiE using Klimyk's formula. Each term represents a different highest
weight of an irreducible module occurring in the decomposition, prefixed by its multiplicity of occurrence. The tensor product

has dimension 14400.
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Computation time 0.00 sec.

If you like, you may look at the implementation that was used (function simp_tensor_irr on page 2), which also involves
routines for the traversal of Weyl group orbits.

You may go back and try another example.
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